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TR BB | SCOH UE BE | BUTR MR SCOHY UF AE MRt M 4| R

i = % 463,883 459,390/ 99.0/ 0.5 452,309 0.5 7,081 1.6
i b # | 13,261,663| 12,534,175 94.5| 13.1] 12,496,749| 13.1 37,427 0.3
D]k B & B % 11,463,813 10,882,582| 94.9| 86.8| 11,037,210 88.3| A 154,628 A 1.4
(2)|#% Bt & 878,770/ 809,970 92.2| 6.4 778,891 6.2 31,079 4.0
(3) | PR A AR IR 609,224 547,430 89.9| 4.4 507,726 4.1 39,704 7.8
(4% % & 222,827  209,282| 93.9| 1.7 95,543| 0.8 113,739| 119.0
(5)|# 3 70 & # 24,615 22,598 91.8] 0.2 15,587 0.1 7,011 45.0
O =T 62,414 62,313| 99.8| 0.5 61,791| 0.5 521 0.8
B * # | 42,654,071] 40,412,815 94.7| 42.2| 40,965,304| 42.9| A 552,490, A 1.3
(D[ & @ uk % 21,388,101 20,377,399| 95.3| 50.4| 20,949,100 51.1| A 571,701 A 2.7
@|W #® % Hk % 15,672,085| 14,848,631| 94.7| 36.8| 14,490,436 35.4 358,195 2.5
()| TE th # % 5,590,885| 5,186,150 92.8| 12.8| 5,525,638| 13.5| A 339,489 A 6.1
(|5 & # By # 3,000 635/ 21.2| 0.0 130/ 0.0 505| 388.5
1 * # | 11,058,072| 10,571,168| 95.6| 11.0| 9,664,299 10.1 906,869 9.4
(D|f% i 5 £ & 4,753,317 4,499,101| 94.7| 42.6| 4,509,713| 46.7 A 10,612| A 0.2
(2) |88 B % K % 349,049 340,264 97.5| 3.2  322,370| 3.3 17,894 5.6
(3)|1F 7w & 5,735,640/ 5,511,737 96.1| 52.1| 4,619,118 47.8 892,619| 19.3
4| F kB & 220,066  220,066(100.0| 2.1| 213,098 2.2 6,968 3.3
¥ iy # 211,968 186,530/ 88.0| 0.2 153,684 0.2 32,846 21.4
bk ok B ¥R 1,336,267 957,574 71.7) 1.0 284,725 0.3 672,849| 236.3
(D[R ¥ # 1,335,937 957,260 71.7/100.0| 284,215 99.8 673,046 236.8
(2)| %k ¥ % 330 314| 95.1] 0.0 511, 0.2 A 197 A 38.6
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TR OBLAR | 3O H UE B | BUTER | 3 H uE B (MR B DR B | EeR
7| f T # 2,676,853 2,133,068 79.7| 2.2 1,537,216/ 1.6 595,853  38.8
8| * S # | 10,640,907 9,066,833 85.2| 9.5| 10,654,970 11.1[ A 1,588,137| A 14.9
D+ K & & 248,563 245,645 98.8] 2.7 280,716/ 2.6] A 35,072| A 12.5
(2) JEKED X 5> 1,938,310 1,245,510 64.3 13.7| 2,186,372 20.5] A 940,862 A 43.0
(3) |l I % 1,081,180/  767,001| 70.9/ 8.5 724,847 6.8 42,154 5.8
(4) |#6 Tt om #& 6,974,963 6,423,802 92.1| 70.9] 7,118,259 66.8] A 694,457| A 9.8
B |fE = # 397,891 384,876/ 96.7| 4.2|  344,776| 3.3 40,100| 11.6
9| W Bh ? 2,513,084| 2,438,981 97.1| 2.6 2,499,701 2.6/ A 60,720] A 2.4
10| # =) ¢ | 10,157,020| 9,032,117, 88.9| 9.4| 8,767,407| 9.2 264,710 3.0
D\ ERBE 1,008,540/  956,910| 94.9| 10.6| 973,635 11.1| A 16,725 A 1.7
@ % K & 2,738,839 2,164,049 79.0| 24.0| 1,855,999 21.2 308,050/  16.6
CIL I 1,177,501 979,754, 83.2| 10.8] 917,526/ 10.5 62,227 6.8
Dt = % F & 2,483,016, 2,287,684| 92.1| 25.3| 2,364,053 26.9] A 76,369 A 3.2
B)F K s &' 2,749,124 2,643,720 96.2| 29.3| 2,656,192 30.3| A 12,473| A 0.5
11| 2 i % 8,024,810 7,983,424| 99.5 8.3 8,042,974 8.4| A 59,551 A 0.7
12| * i % 38,267 0| 0.0 0.0 0 0.0 0 -
W A R 103,036,865 95,776,075 93.0|100.0] 95,519,338| 100.0 256,737 0.3




